Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C315003 Date: 04-01-2016
Subject Name: Building Material
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:

1.

g~ W

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

No. Question Text and Option. Y&l vl ([Ascdl.

Which of the following is the building material ?

1. A Bricks B. Stone
C. Steel D. All of above
o(lAstl il 58 aliusid Wl 82

. A2 B uear
C. e D. Guretl sl
Granite is the example of which type of rock

2. A. Plutonic rocks B. Volcanic rocks
C. Sedimentary rock D. Metamorphic rock
Jotlee A sl Yslell UeURe] GELSWL B?

2. A yllells usur B. Qcdells uea
C. AdlReedl uear D Raugls uearR

Standard size of the brick recommended by BIS is

3. A
C.

19¢cm x 9cm X 9cm
23cm x 11.5cm x 4.5cm

23cm x 4.5cm x 4.5¢cm
20cm x 10cm x 10cm

O w

BIS glRL GLALHRL SAUHL AAA B2of YHIRG . HIU

3. A. 23cmx 4.5cm x 4.5¢m B. 19cm x 9cm x 9cm
C. 20cm x 10cm x 10cm D. 23cm x 11.5cm x 4.5cm
Which of the following sentence is correct?
4 A. Lime increase plasticity B. Lime increase shrinkage
" C. Limeisnotdurable D. Lime gains strength
suddenly
o(lAotl 1l 53 cltsel Uy B?
A yall oM AU B B. Yol dBlust ctu? ®
¥ ¢ D
- Yoll 2516 olell - Yoll WAULAS HAOALE
anad &
Which of the following ingredient imparts quick setting property in cement
5. A. Lime B. Silica
C. Alumina D. Magnesia
olAott Hiell 53 ues RNeHI wCeEl olsR vlotalloll JQLt] W B
Y.

A

Yoll B. Rdlst
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10.

0.

11.

Q.

12.

.

C. eyt D. Doqaflau

The timber piece whose breadth and thickness do not exceed 50mm is called as

A. Planks B. Batten

C. Board D. Scantling

Alssloll 259l 3 Boll USlouy ua stoue 50mm ol atlR of dla dal g sdau
A elles B. Qeat

C. Qs D. Feldot

Which one of the following stone is Metamorphic?

A. Granite B. Marble

C. Lime stone D. Sand stone

o{lAail Hiell 52 ueaR Aelsls B2

A Jallese B wikua

€. Yotloll uea D. Ycuq usarz
Which one of the following is the operation include in process of manufacturing of brick
A. Crushing B. Moulding

C. Seasoning D. Non of above
82lol catlce ara o{lAstl 1l 58 yslal WAA Sl &

A 53q B. aoues

C. dloseflal D. Guz mall sl 18l
Which lime is sets under water

A. Fatlime B. Hydraulic lime

C. Poorlime D. Quick lime

wellul sl Yoll Ul i &

A %2 Yol B. ste3lclls Yol

C. slaal Yall D sclls Yoll

Which one of the following ingredient is present in higher amount in cement?

A. Silica B. Clay

C. Lime D. Alumina

o(lAatl Hiell 53 des @AMl auR YHIRMl s 82

A R@st B. wdl

C. ya D Aeellstt

To reduce shrinkage in concrete which types of aggregate should be used?

A. Fine aggregates B. Coarse aggregates
C. Aggregates with sharp corner D. Rounded aggregates
slsleui AU vetsal sal Ysiell suplell GuAlol sl B SA?

A geel su2ll B. wrese su2ll
C.arelr yauatdl sul D. Sloustz suall
Which wood is used to making furniture

A. Deodar B. Teak

C. Pine D. Banyan

go{[AR Glollacll 53 Als cURA B

A RdeR B. ol
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13.

3.

14.

.

15.

M.

16.

1S.

17.

9.

18.

.

19.

C. weet D. wotalat
Which stone has a compressive strength from 75 N/mm?to 127 N/mm?

A. Sand stone B. Granite

C. Marble D. Lime stone

sl ueaRe{l elats el 75 N/mm? &l 127 N/mm? &

A 3dl uaR B. Jouee

C. yRua D. yotlell ueat?

Frog in brick is kept to,

A. Increase the bond strength of brick B. Increase the appearance of
brick

C. Increase compressive strength of brick D. Reduce the volume of the

clay used in brick
S2lHL 1oL Al HIS UMl A B

A 82lell oltet el aulRel B. §2loll 2ullal el

C. galoll elots &t cral D. g2l cuidad 1dlsll
%2 Yalscll

Which of the following constituent imparts more strength to lime

A. Clay B. Magnesium carbonate

C. Sulphates D. lIron

o(lAoll Wl 83 Ues YollHl AUR UXGYALS WA &

A idl B. Dol siellae

C. ucke D. st

Seasoning of timber means,

A. Method of drying of timber B. Felling of timber in various
seasons

C. Methods of storing of timber D. Method of preserving the
timber

clsste] Alxellol Aed

A csstal ysealtell A B. (QfQu qauul cssie
usq

C. cussial daLe salell Ad D. cusstal aaaell dd

Which of the following test is used for fine aggregates?

A. Sieve analysis B. Abrasion test

C. Impact test D. Sound test

st8ot sURAl 12 o{lAotl Higll 53 uletgl GuAloHl Aala 8?

A dla udlewl B. Adalet udlawa

C. gilise udlaw D, aare udlawl

The fracture of a rock helps to determine its

A. Smell B. Textures

C. Structure D. Color

ueaRell sl 9 otssl sRaUUL HEE 52 B?

A yoiu B. 252

C. dlural D. 201

Which one is the harmful ingredients in brick clay
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c.

20.

R0.

21.

1.

22.

2.

23.

R3.

24.

R¥.

25.

QY.

26.

A. Pebbles B. Magnesia

C. Silica D. Alumina
o(lAetl Hiell 53 des Seoll HEIHL ds2laisRs B

A gis3l B. Noaflaut

C. RE@st D. aeyallat
Which one of the following lime is suitable for plaster work

A. Poor lime B. Fatlime

C. Hydraulic lime D. Atrtificial lime
LAReRell st 1R ol Astl Hidl 52 Yol WofgO B

A ool Yoll B. ol Yoll
C. alcls Yol D. 5B Yyl

For better workability of concrete which of the following types of aggregates should be
used?

A. Aggregates with sharp corners B. Flanky Aggregates

C. Aggregates with irregular shapes D. Rounded Aggregates

sigleal AR A stHHl @8 asta A R {Aetl Hidl sl ustRell suglall
GUaloL U SSA?

A wRelR vyeuatoll sull B. gl suzll

C. arctearet AsRaoll su2ll D sloustz sull
Fineness test of cement is carried out to check its

A. Compressive strength B. Proper grinding of cement
C. Tensile strength D. Setting time
RNzal $l8atalxt Uleal 9 duldal M2 sl w1

A Elus 8l B. lNeq] Ao eng
C. et D. o552 el UMl
Which of the following is skin of the tree

A. Pith B. Outer bark

C. Cambium layer D. Heart wood

o(lAotl Hiell s2ll ALsell uHsl B

A Yy B. wsRell 1t

C. ol U D. && cuss

Sand stone can be classified in

A. Igneous rock B. Sedimentary rock
C. Metamorphic rock D. Non of above
Rl ueaR AL cdllgct 3| asta

A uBagd UsaR B. oyl usalR

C. Revdls uear D. Guz uidll sl 18l
The maximum desirable temperature for brick burning is

A. 500°C B. 650°C

C. 1100°C D. 1800°C

62 U Mot BwollA EL& cllUMlel 53 B?

A. 500°C B. 650°C

C. 1100°C D. 1800°C

Which is not suitable for plaster work
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RS.

27.

9.

28.

RC.

29.

30.

30.

31.

34.

32.

3R.

33.

A. Clay B. Cement

C. Lime D. Plastic
ARRR M2 9 AU otell?

A ydl B. lNe

C. yall wéls
Which of the following is the size of coarse aggregates

A. <7.55cm B. =7.55cm

C. >7.55cm D. <45cm
o(lAstl il 53] U olReve sUle] B?

A. <7.55cm B. =755cm

C. >7.55cm D. <45cm
Soundness test of cement is carried out to detect

A. Presence of uncombined lime B. Presence of water
C. Tensile strength D. Setting time
RNzl WGesAU Ul 9 Nl M2 saUHl AA B

A iy sel Yotioll slo?l B wglloll slosdl
C. et D. o552 gl unal
Age of the trees can be find out by

A. Annual ring B. Outer bark

C. Pith D. Non of above
5ol GHR Aottell 0Ll asta

A allls aca B wa oia

C. Yau D. Gu2 uiell sy «18l
Which of the following is the visual inspection of the stone

A. Texture B. Color

C. Smell D. Strength
o{lAatl Hiell 53f uaRe] g Al &

A 2sUR B. 301

C. iy UG cALE
Which one of the following is the type of continuous kiln

A. Bull’s trench kiln B. Hoffman’s kiln
C. Tunnel kiln D. All of above
o{lAetl il s20 UGl @glall Ysik B

A et 2o algl B Qsiot gl
C. 2alct gl D. Guge €35
Which is the test to be performed to determine the quality of lime

A. Acid test B. Heat test

C. Ball test D. All of above
o(lAatl Higll 53f uilewl Yool fQladl dudal Hi2 AU B

A Qs udlawl B. Guu udlewl
C e udlaw D Gurstl €35

Which of the following aggregates produce poor concrete
A. Rounded aggregate
C. Angular aggregate

B.
D.

Flanky aggregate
Irregular aggregate
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33.

34.

3%.

35.

34,

36.

36.

37.

390.

38.

3¢.

39.

40.

¥O0.

o(lAatl Uil s2ll suAl sloty) siEe olotld B

A Slloustz suRll B. @4l suzll

C. yauauoll sudl D, wadcard austzaoll
sull

For cement Vicat apparatus is used to determine

A. Soundness B. Consistency

C. Strength D. Setting time

RAe W [@Asle GusL 9 Nual HER dujAA &

A Hogudle B. yiotta

C. clslcl D. ols52 clloll AH

Diagonal & Torn grain defects occurs in timber due to

A. Fungi B. Conversion

C. Seasoning D. Insects

AsSIHL UL el g2l 2ol vl Aotl 5120 Ged B

A gl B. yRadt

C. el D. oy

Which stones are used for carving & sculpture work

A. Lime stone B. Sand stone

C. Granite D. Marble

SlcRell A Qleu s HIZ s U2UR dURL &

A Yollall ueuR B. 2clo ueaR

C. Jouse D. yiruc

Good bricks should have a crushing strength of

A. 5N/mm? B. 5.5N/mm?

C. 3 N/mm? D. 6.5 N/mm?

AR Beoll sUA &AL 58 B

A. 5N/mm? B. 5.5N/mm?

C. 3 N/mm? D. 6.5 N/mm?

Which of the following knot has a diameter up to 6.5 mm

A. Small knot B. Pin knot

C. Medium knot D. Large knot

o(lAstl il 58 olisell R 6.5 mm Yol B

A aliofl alis B. ot alis

C. yran alis D. 14 aus

Which of the following cement is used for marine structures

A. Pozzuolana cement B. White cement

C. Coloured cement D. Acid resistant cement

o(lAotl il s AN edlaue ciusid HIZ duRA B

A Qopdlastl @R B e e

C. 2o1al RNe D. Alls y@Aus A

Which of the following defects are caused in the timber by the fungi

A. Blue stain B. Dryrot

C. White rot D. All of above

AlsSIHL o{lAott Higll 58 Wil $oLal 51RQ Geeld B
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41.

¥q.

42.

¥R.

43.

¥3.

44,

¥¥.

45.

¥U.

46.

¥S.

A gL sl
C. colse 2Ae

B.
D.

Ysl alis
GURell E38

Which one of the following is mostly used for preventing moisture?

A. Lime stone
C. Slate

Aol westaal ol Aol Higll 9 Heleudl auRja 8

A Yollall ULUR

C. e
Which of the following is bullnose brick

A @
C. éa

o(lAstl il 58 ot ol B2 B

) =
C. éa

Which cement is useful for making sculpture & statues

A. Pozzuolana cement
C. Quick setting cement

Ycllstd ua RQleusid Wik sl AlHe duRla

A Qoplletstt RNe
C. ol ols? olotdl RNe

Water stain & knots defects in timber are caused by

A. Natural forces
C. Fungi

cAlsstHL WRll st wal atis viHl Aol 51201 A B

A gerdl udlaal
C. §ol

Which stone does not require dressing?
A. Lime stone
C. Slate

sl U2 DLl %32 el

A Yoiloll ULUR

C. W@

The size of mould for brick manufacturing is kept
A. Smaller to specified size

C. Equal to specified size

82 ollaal el ofloile MU 9 &l B

B.
D.

w

Granite
Marble

Jailee
HIRMA

R R
B B

White cement
Hydrophobic cement

uye RN
slssls RNe

Insects
Seasoning
ol
Alxallat

Sand stone
Artificial stone

Rl uLuR
gl weaR

A little larger to specified

size
8-12% longer in all
direction



47.

¥O.

48.

¥C.

49.

¥C.

50.

Yo.

51.

uq.

52.

uR.

A Rad WU sl silef B [Raid ®u scl g g

C. @ad Hu Red D. oiell ooy 8-12% cio

Which one of the following is a good cement mortar proportion used for general RCC
work

A. 1:2:3 B. 1:.1%:3

C. 1:36 D. 1:4:6

AHeA AUR.ALAL st 12 oAt uigll sy A2 Welreg yHeL U3 8

A. 1:2:3 B. 1:1%:3

C. 136 D. 1:4:6

Seasoning of timber is carried out to

A. Make timber safe from fungi & insects B. Impart hardness & strength

C. Decrease the weight D. All of above

clssto] Alosellor 2 12 spA2A B

A 5ol U %] AR ALSSIA UAMA vl B, 5etcll A HHoyclles
sual

C. aoel Ay sl D Gurell 35

Which stone is good to used on kitchen platform

A. Granite B. Marble

C. Sand stone D. slate

AUSLotl WA HIZ sA UL ARl B

A Jetisse B. wrac

C. Yl uguR D ae

Which one of the following is hollow brick

A. B.

@)
O

o{lAatl Hiell 58 Weteendll 82 &
A.

C. D.

0% 0%

Which of the following grade cement is not used for RCC work

C. Mg D M2s

AR ALAL stH 12 olAott Higll sl sl N2 aund ol

A. Moo B. Ms

C. Ma D. Mazs

Honey combing, bow & twist defects in timber are due to

A. Fungi B. Seasoning

C. Insects D. Non of above
cAlssIHL eofl slaollol, ol Aal HRsal Bl wiHl Aol $120 w2 &

A §3[ B. Al elloL

C. og D. Guaniell 8l o8l
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53.

u3.

54.

uy.

55.

wu.

56.

us.

57.

9.

58.

uc.

59.

ue.

Which is the product obtained by slaking of quick lime is known as

A. Poor lime B. Slaked lime
C. Carbonate of lime D. Fatlime
sdlls Yolloll ASLLE 58 Vel HA B

A sl Yall B. :@s yall
C. siellae yall D. 32 yal

Which of the following method is not used for artificial seasoning of timber
A. Open Air seasoning B. Kiln seasoning
C. Electrical seasoning D. Chemical seasoning

ctsstell 5O Alsellor 12 ol Astl Higll 58 A audl oiell

A yedl sarell dlxellal B. aglell dlosellot

C. @Qgdell Hlosellol D. anaells Aol
Which of the following stone is suitable for roofing work

A. Marble B. Granite

C. Slate D. Lime stone

o{lAotl il 520 ULUR BIURLGl SIH MR A B

A yRrud B. Jauese

C. e Yotloll ULeR
Burning of brick is required to

A. Imparts hardness B. Achieve color

C. Make it brittle D. Make it soft

B2loll £l %331 B M %

A ooty Ul HiR B. 3oL ylid sRal W2

C. QA olRs lollalall HI2 Aal ol ellalall HIR

Which of the following timber is not attacked by termites

A. Pine B. Deodar
C. Teak D. Sandal
ol Aot Higll sl ctsSL UR Guell gHA Ul otell

A Y get B. Rael?
C. L YEol

The preservation of timber is carried out to
A. To increase the life
C. Decrease the weight

ctsstell ALAAR 3H 5pA2U B
A Qo Wdalslal dulRdl
C. qogal walsal

The stone has a tendency to break along its
A. Texture
C. Cleavage

yedRMUl Sloll A declle] actal sl &
A 35UR

Increase the appearance
Increase workability

Aell 2ulal dulRell
st HIoll 200Ul
cutrell

fracture
structure

sle
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60.

SO.

61.

SAq.

62.

SR.

63.

S3.

64.

S¥.

65.

C. A D. siuzi
Which of the following constituent imparts red colour to the bricks

A. Magnesia B. Oxide of iron

C. Alumina D. silica

o(lAotl el 53 ues BHl AlA 01 AU B

A Raala B, yletell 20 sU188S
C. Acleu D. llellst

Basalt is an example of which type of rock

A. Plutonic rocks B. Volcanic rocks

C. Sedimentary rocks D. Metamorphic rocks
WA sAL YslRall ULUd] GELSWL B

A gllells ueaR B aciauyullat ueaR
C. wmgd ueaR D. RevlEs uear
Which of the following test is done to find out the rate of wear of stones used in road
A. Acid test B. Attrition test

C. Crushing test D. Crystallisation test

Rl collalal HIZ dURldl UeaRell usaallctcloll €2 UsAal HIZ {lAell Hisll
53] u3lelgl sl wWa B

A Qs udlawl B. Adluet udlewal
C. susale udlaw D. 2ss20 udlaw
Which of the following is the Mechanical properties of the materials
A. Elasticity B. Conductivity
C. Resistivity D. Reflectivity
o{lAatl Hiell sl MA AHLetoll AiAs opRuAl &
A RQRUUSAL B, cussdl
C. y@Ausdl D. watadsdt
Which of the following quality that first class bricks should have possess :
A. Should have high thermal conductivity B. Should not absorb water
more than 20% by weight
C. Should have crushing strength more than 10 D. Should be break when
N/mm? dropped
o{lAstl il 58 opuladl yaun adlel 82l urladl &l AlsR
A Gl GWldl cltssdl aldll BlsA B. 20% s2cll atll® c¥olo]
will 20ug SleA o8l
C. 5l &Ml 10 N/mm? sl aa? alcll D, wisauni aud & qél
R eA ol A

Which of the following is king closer brick?

A N @
C. @ D. @
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S\U.

66.

SS.

67.

SV.

68.

SC.

69.

Sc.

70.

90.

o{lAetl Hidl 58 ($oL sARR B2 B

A.
c @

What is O.P.C.?
A. Ordinary Plain cement
C. Ordinary Pozzolana cement

AULULA A2 9j?
A 28Ttd Wet e

C. QS WsAlctotl AN

Which of the following ingredient imparts strength to the
A. Lime
C. Magnesia

o(lAotl il 53 des ANeul Ul WA &
A. Qio.n
C. Dol

Crack which separates the fibers of wood is
A. Bow
C. Case hardening

ALSSLoll UL 58 12 WAL 52 ©
A @
C. %9 s18allat

B.
D.

B.

=2
=

Ordinary Portland Cement
Oil base Plain Cement

WS3 Weds llHe

D. Qs A Qo flHe

cement
B. Silica
D. Sulphur

B. R@Ast
D ues?

B. Check
D. Cup

B. s
D sy

Which of the following is the optical properties of the materials
B. Plasticity
D. workability

A. Colour
C. Density

o(lAail Hiell 58 Ul UHlotoll §RA6iH ol B
A 3y
C. ual

Which of the following is queen closer brick
A. :

C.

©

ol Aetl HiYl 58 scllot SARBR &2 &

A. ;
C.

*hkkkkhkkkhkhkhkkiikikkikk

B. wzélalld)
D. a%allcldl

B.

D.

=
=2
=
=2
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